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Unit #1 Study Guide #1

Use the following to review for you test. Work the Practice Problems on a separate sheet of paper.

+ Constants
c.4 less than 5 times

number
SX- 4

“ d. the total cost of

' purchasing 4 t-shirts on-
line for x dollars each with
a $7 shipping fee.

It

What you need fo | Things to Examples 1/'» o '“‘ji \\ \
know & be able to | remember v H Bloel A
do - _ ‘
1. Convert 6 liters to guarts. 2. A bowl of cereal weighs
— 60 oz. How heavy is that in
e '(0&
. ] 2
o There are 5280 feet in one mile bl 2% g5 kgt %4
. Th-e_r-e are 0.034 ounces in onhe H i L %0 {60 02 # mww% ot
milliliter _ oot e |=
* There are 0.454 kg in one pound : . g
» There are 1.6 kilometers in one - E_J“J(D&‘ Y4 |
mile 3. Convert 35 miles per hour 4. Wateris about8 4 =
« ‘There are 1.05 quarts in one liter into feet per szcogd{’!‘ Hoy pounds per gallon. How
. [\
¢ There are 4 quartsin one gallon | 35 mites w-——%g I";‘:r‘;h s thatin grams per
» There are 16 ounces in a pound. T M SlooD ¥4 cdduy gpoop |
¢ 1 gallon = 3.785 liters S 9 Tlosy 2702, 221 o
- = &3 -
— V13 prpaxc| | Tige 1B 90
I 3 loon. st |
5. How many terms are in the é.
expression -12x3 + 7x2 - 4x -19¢
' a. What are the
How many terms are in the coefficients, and
simplified expression 5 constants in the
X2-3x + 4+ 6x -5¢ expression 20x4 - 11x +3%
) CoefficientsTe} , —
Ty -t 2| Constonts:_ 3
2 b. write an expression 1o
et represent the total cost of
* #oftems 20 fair fickets with a 30%
Writing and ' e Coetficients discount
interpreting algebraic o N -
expressions » Factors ¢ 30{Z0 K‘) - leX
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Adding,
subtraciing and
mulfiplying
polynomials

s When adding,
just combine like
tferms. Exponents
stay the same;
only add
coefficients.

+ When
subtracting,
districute the
negative theh
combine like
terms.

« Distributive
property; add
exponents;
simplify
completely

7. Simplify
a. (3x+2)+ (x—4)

J39 -]

b. (3x+ 2} - (x~4)

R R e |

Tov gl
c. [3x355x2+7x-1)—(-2x3+4x2-8)
*distribute the negative and
WRITE OUT the new problem
B % Gy vy By 2

.=-=>“""""—

fen

Sy ™ ~ae® 4y -{-’}S

d. (9% +4) — (2x2-7x + 1)
QX+ 4 - 2% T4 y= |

t‘a#'a“—umx*’j\

8.
Simplify
o, 5x2{3x+ 4)

15 %% 2% %
b. (6x+2){2x~1)
(2% % — (% A~
C. [3x+4)2
y - *(2.\}."&'(2.#""“9
G o * 24K —ﬂtpl
T2 + 3) (2% - 3)
4% oy ey -2

e [x- }(3x2—6x +9]
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LAY

Perimeter, area, and
volume using

Perimeter: add all
sides {combine like
terms)

Area of rectangle:
multiply length fimes

Q. Write an expression for the
perimeter of a rectangle
whose lengthis x + 7 and
whose widthis 2x - 3.
Ay £ DL
Dy 14 S A%

12. Write an exprassion
representing the volume

of the rectangular prism
whose length is 2x + 4,
width s x, and height is x-
3. :

X (Dx+4aY ¥ -2)

polynomials width M S
-y l_{,, _
Volume of b. findThe ared of the above ALK %3
rectangular prism: rectangle. (‘(*1){9)"3) =NES Oy Ay Y
i - -2\ v ‘"""}
multiply | x w x h 9>< ?K—-{—Iﬂrk ggxﬁ‘"ﬁ‘*{-l’I}X
(o1 4tix —o4]
i3. simplity completely 14, mmphfy completely
a. 4712 243
o % 1545 A
| o Simplify . b.2\’4j\5- 2\"50
¢ Add/subfract b. 3V24-v6 | a5 €2
Radicals o Multiply _ gvs - N
« Rationdlize 12 e C.(3+V5) (245} o4 3.3 5+ fa"'
denominagtor | wJdf. 1 g :
ne o wawg TSV |
oo 4z ul
Ve
. 15. rational orirrational? en I
rafional #s canbe | o 5y; 3 15\@% £400 +V121 4o+ = R
-Irrational #s are non ) WTds TR
rational and irational | terminating and 0.3.14 P Q.- 2982 14
numbers non-repeating. .
c. r h.{3+V5)(3-V5) R
-Square roots of non- —
9 5 R U305 43 o6

perfect squares are
iratfional

d. Irrational +irational = L.

i (rqhonql)(lrrc’rlonal) =

1 j.sum of rational and i’ = L
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